EARAROBREBRT —5 XN—ZXBISH—F

202388228 (X) 6@mlIIE2H

I U SF— C3HKN

\(9&1&1 n ‘I%EH?’JFQ] | & 100 =

[AE%] 1 7% :800,000F  27&:320,000 M  337%&:200,000H” ~ 43:120,000H . 5 7&:80,000 M

B RS RS M MHE BF (F8) 4L (EE) | @BIEMI | £3F |SEH | AR | #E | BREN FR) / BE / £ERS
<SR = SREE :32. -2-2- . - HBEE (o)
1 6| IAYRATFTIV 7 g 1(3_2)2 S : :1_632) ) Lvo2z
RFAIWNITFY— B:FSUY BEZTY R
— — st 5 | EMEE 1:32.3 1-1-1-1 | 40.4| — 6 46 | StEE— ()
2B TYU—YRA—b 540 &E) (+4) @) 5v=v7- 759k
RiboPO—LN B:5TU—BUF— R"A BR
N ® S :33. -3-3- . - SHiEM (1iE
3lglg| FY—hFYU—R 7% 1(343)2 3334 408 ! (4_815) EZNT@EH( v
RINMVTSY BINAN—Fvya Wing Farm
== 3 g— 4 6 | LUPEH 1:33.3 6-5-4-3 | 40.5| — 3 440 |[ELAER (HotE)
4|5|5|=7307Y3—Y 54.0 %) (+4) LR
RiLy RZN—5 B:9AV3TU—9 NET 7 — L
- 7 fo5 | W 1:33.7 5666 | 40.7 | - 1 | 484 |BEBEE (1E)
507|7(/N\O—bkv—1 54.0 %) -5) BllAT
RINZ—=NDVN BRFSTUAR =IE%%
<~ = o6 | HEAS 1:33.9 4-4-5-5 | 41.3| — 4 502 | PUHIERE (Rots)
611111 BYTIL/ 56.0 m © | @ ITF
RIN=YISA B:T2V97U—F1 /=YY I 7 —I
HEER : -7-7- - W= (15
7 3| TIUE R 7| 1.(32:%.3 7-7-7-7 | 41.0 5 (4334) uﬂg; 1)
R:F—RUVRDIL B:0-2F v h— HET7—L
= [ERTEE 2 -8-8- - LWEHESR (i)
8 4| VIFEIR i 5 | 1.(333.9 8-8-8-8 | 41.2 8 3(2? inzs UL
RibSVEYR B:T71-LYST TS
- = P I it - - - - - — | WERER (1IE)
89| =ANS B g (EG) =) ERAE
R:Z=Z #8:30=Z7IWLF1—/\ Hsro—€gy
@ 1—F—&@BIEfL
13—7F— 2,6,8,1,7,5,3,4
20—7F— |2,6,8,1,5,7,3.4
30—F— 2,6,8,5,1,7,3,4
43— — 2,6,5,8,1,7,3,4
@ I RE
=< 6 2501 | | 94K 2-6 460M 55 2-6 1,280 38 2-6-8 9,160M
B B 6 140M4 6-8 1,540 By 6-2 1,690 s 6-2-8 28,320M
2 2809 2-8 2,910H4
8 790M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




